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KoMmmieKT 0lIeHOYHBIX MATEPHUAJIOB M0 IUCHHUILIMHE
«AHOCTpaHHBIN A3BIK»

3ajanns 3aKPBITOTO THIA

3aaHus 3aKPHITOT0 THIIA HA BBIOOP NMPABWIBHOIO OTBETA

1. BriGepuTte oauH MpaBUIbHBIN OTBET:

This report is the I have ever read

A) good

b) better

B) best

[IpaBunbHBIN OTBET: B

Komnerennuu (naaukatopsl): YK-4 (YK-4.1, YK-4.2)

2. Boibepute oaMH MpaBUIIbHBIN OTBET:

You  getavisa when you travel abroad.

A) must

b) can

B) may

[IpaBuibHBIM OTBET: A

Komnerennuu (uaaukaropsl): YK-4 (YK-4.1, YK-4.2)

3. BoiOepute o1MH MPaBUIIbHBIN OTBET:

I want a well-paid job soon.

A) getting

b) to get

B) get

[IpaBunbHsiil oTBET: b

Komnerennnu (naaukatopsl): YK-4 (YK-4.1, VK-4.2)

4. BeiOepuTe OAMH MPaBUIbHBIN OTBET:

I can't come to the meeting now because I for the tomorrow's conference.
A) prepared

b) prepare

B) am preparing

[IpaBunbHsIil oTBET: B

Komnerennuu (unaukaropsl): YK-4 (YK-4.1, YK-4.2)

3aI[aHI/Iﬂ 3aKPbBITOI0 TUIIA HA YCTAHOBJICHHUE COOTBCTCTBUA



1. VYcraHoBuTe mNpaBUIBHOE COOTBETCTBHE, YTOOBI TMOMXY4YHTHh (passbl,
HeoOxonumble JUIsl Tene()OHHOTrO pasroBopa. Kakaomy sJeMeHTy JIeBOro CTONOIa
COOTBETCTBYET TOJIBKO OJIMH 3JIEMEHT MPaBOTO CTOJONIA.

1) Could you tell me A) is no answer.
2) I can transfer you b) her email address, please?
3) I'm sorry there B) calling, please?
4) Who's I') to her voicemail.
IIpaBuIBbHBIN OTBET:
1 2 3 4
b r A B

Komnerennuu (naaukatopel): YK-4 (YK-4.1, YK-4.2)

2.  YcTaHOBHUTE TPABUJIBHOE COOTBETCTBHE YAaCTEH  BOMPOCUTEIHLHOTO
npemiokeHus. KaxaoMmy 37IeMEHTY JIeBOro CTOJIOIa COOTBETCTBYET TOJIBKO OJIMH
AJIEMEHT IIPaBOTO CTOJIOIIA.

1) He has just come to our new office, A) did she?

2) She didn't do the task yesterday, b) can't we?
3) We can discuss this issue now, B) aren't they?
4) They are well-trained specialists, ') hasn't he?
[IpaBuibHBIN OTBET:
1 2 3 4
r A b B

Komnerenuu (uaaukaropsl): YK-4 (YK-4.1, YK-4.2)

3. YcraHoBuTE MpaBWJIBHOE COOTBETCTBHE BOIMPOCOB M OTBETOB. Kakmomy
AIIEMEHTY JIEBOTO CTOJIOIA COOTBETCTBYET TOJBKO OJUH JIEMEHT MPaBOrO CTONOIA.
1) What is his occupation? A) No, she can't. She doesn't know it.

2) Can Mary speak English? b) No, I haven't. But I'm going to visit
it next summer.

3) Have you ever been to Volgograd? B) He is a scientist.

4) When will you finish your research? I') By the end of this week, I hope

[IpaBusbHBIN OTBET:

1 2 3 4
B A b r
Komnerennuu (unaukaropsl): YK-4 (YK-4.1, YK-4.2)

4. YcraHOBUTE NPABUIBHOE COOTBETCTBUE TEPMUHOB onpenesieHus M. Kaxxnomy
AJIEMEHTY JIEBOT'O CTOJIOLA COOTBETCTBYET TOJIBKO OJUH 3JIEMEHT IIPaBOro CTONOLA.

1) road A) the movement of vehicles, people in
a particular place or for a particular
purpose

2) traffic b) the application of practical sciences
to industry or commerce

3) technology B) an open way, usually surfaced with
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asphalt or concrete, providing passage
from one place to another

4) freight I') a quantity of goods that are sent
somewhere, especially in order to be
sold

[IpaBuIbHBIN OTBET:
1 2 3 4
B A b I

Komnerennuu (naaukaropsl): YK-4 (YK-4.1, YK-4.2)

3aganuna 3aKpPbITOTO0 THIIA Ha YCTAHOBJICHHUE HpaBHJIbHOﬁ
nocJIeaA0BaTC/JIbHOCTH

1. PacnionoxuTe 4acTu MpeasioKEeHUs B MPABWIILHOM TOPSIIKE:
A) is working

b) A young specialist

B) on the project

I') at the moment

IIpaBunbubiil otBET: b, A, B, I

Komnerennuu (ungukaropsl): YK-4 (YK-4.1, YK-4.2)

2. [Ipounraitre IIPEITIOKEHUS. YcranoBure 1504 JIOTUYECKYIO
MOCIIEZI0BATEILHOCTh, OTPAXKAIOIIYI0 OCHOBHBIC 3Talbl Pa3BUTHUS ABTOMOOMIIBHBIX
JIOpOT.

A) Road development accelerated in the first half of the 20th century.

b) The most remarkable achievement is without doubt the American Interstate
highway system initiated in 1956.

B) By the 1920s, the Lincoln Highway, spanned over 5,300 km between New
York and San Francisco.

I') The Germans were however the first to build the modem highway
(autobahn) in 1932

IIpaBunbHbiil oTBeT: A, B, I, b

Komnerenunu (naaukatopel): YK-4 (YK-4.1, VK-4.2)

3. PaccTaBbTe pemvku JUanora B MPaBUIBLHOM MOPSIIKE:

A) — We are writing a report for our conference.

b) — Oh, that sounds great. Good luck!

B) — Good morning, Alex. I'm fine, thank you. Sorry, I'm in a hurry. I am going
to the laboratory now. We are working on an important project.

I') — Hello, Lena. I haven't seen you for ages! How are you?

) — What project are you working on?

[TpaBunbheiii otBeT: I, B, 11, A, b

Komnerennnu (uaaukatopel): YK-4 (YK-4.1, YK-4.2)
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4. YcTaHOBHTE TIPABIIBHYIO TIOCIEI0BATEILHOCTh COOBITHH.

A) He graduated from the St. Petersburg Naval Cadet School.

b) He published "The Explanatory Dictionary of the Living Great Russian
Language" in four huge volumes in 1863-1866.

B) Vladimir Dahl was born on the 10th of November 1801 in the town of
Lugansky Zavod. He grew up under the influence of various ethnic mixture of people
and cultures.

I') V. Dahl died on the 22nd of September, 1872 in Moscow. Descendants set
up a monument to the great man and in 1986 the Museum of the Kazak Lugansky
was opened. His name was officially added to the list of the most outstanding people
of the world community.

J1) As a military doctor, he took part in the Russian — Turkish War (1828-1829)
and in the campaign against Poland (1831-1832).

IIpaBunbnsiii otBeT: B, A, I, b, I’

Komnerennuu (unaukaropsl): YK-4 (YK-4.1, YK-4.2)

3aHaHI/Iﬂ OTKPLITOI'0 THUIIA

3az[amm OTKPLITOI0 THIIA HA JOIIOJTHCHHUEC

1. IIpounTaiiTe ¥ JOMOJHUTE MPEII0KEHHE OTHUM CIIOBOM.

This electronic device takes input from the user, processes it, and gives the
output. It processes the input according to the set of instructions provided to it by the
user and gives the desired output quickly. This device is called the

[IpaBunbHBIN OTBET: computer.
Komnerennuu (uaaukaropsl): YK-4 (YK-4.1, YK-4.2)

2. IIpouynTaiite U JONMOJIHUTE NPETIOKEHUE OJHUM CIIOBOM.
The physical and electronic parts of a computer, rather than the instructions it
follows, is called

[TpaBunbHbIil oTBET: hardware
Komnerennnu (naaukatopel): YK-4 (YK-4.1, VK-4.2)

3. IlpounTaiiTe ¥ JOMOJHUTE MPEII0KEHUE OHUM CIOBOM.

is a set of instructions/tasks that the computer performs.
[IpaBunbHBIN OTBET: program / software
Komnerenuuu (uaaukatopsl): YK-4 (YK-4.1, YK-4.2)

4. IIpounTaiiTe U NOMOJHUTE MPEAJIOKEHUE OJTHUM CIIOBOM.
An device is a computer device or hardware that allows the user to
provide data, input, and instructions to the computer system.
[IpaBuibHBII OTBET: input
Komnerenuuu (naaukartopel): YK-4 (YK-4.1, YK-4.2)
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3aaHus OTKPBITOrO THIIA ¢ KPATKUM CBOOOIHBIM OTBETOM

1. [IpounTaiiTe TeKCT U HAWIUTE MPEITIOKECHHIE, KOTOPOE OTBETUT Ha BOMPOC:
«What does logistics involve?»

Logistics is the art and science of managing and controlling the flow of goods,
energy, information and other resources like products, services and people from the
source of production to the marketplace. It is difficult or nearly impossible to
accomplish any international trading, global export/import processes, international
repositioning of raw materials/products and manufacturing without a professional
logistical support. Logistics involves the integration of information, transportation,
inventory, warehousing, material handling, and packaging. The operating
responsibility of logistics i1s the geographical repositioning of raw materials, work in
process and finished inventories where required at the lowest cost possible.

[IpaBuneHbiii oTBeT: Logistics involves the integration of information,
transportation, inventory, warehousing, material handling, and packaging.

Komnerennuu (unaukaropsl): YK-4 (YK-4.1, YK-4.2)

2. llpouuTailiTe TEKCT W [JOINOJHUTE MPEIJIOKEHUE B COOTBETCTBUHU C
uH(pOopMaIei U3 TeKCTa:

Any company has a goal to low costs for and as well as
to deliver goods to customers fast.

Traditionally, logistics and transportation are extremely important for
successful operating of any company as well as the whole market at large. As a rule,
the main goal of producers and sellers, as well as buyers, is to minimize costs for
transportation and logistics and deliver goods to customers in possibly shorter terms.
In the current situation, a variety of tools is used to achieve this goal. Innovative
technologies, especially IT, computing, Internet, etc., are playing increasingly more
important role and are commonly used to facilitate transportation and logistics.

[IpaBunbHbI oTBeT: Any company has a goal to low costs for transportation
and logistics as well as to deliver goods to customers fast.

Komnerennnu (naaukatopel): YK-4 (YK-4.1, VK-4.2)

3. HazoBwute rpyriy ykazaHHBIX IPEAMETOB OJTHUM CIIOBOM.
e Motherboard

CPU

RAM

Hard drive

Optical drive

Network interface card

Mouse

Keyboard

Monitor



e Printer
e Speakers
[IpaBunbHbIil oTBeT: hardware
Komnerennuu (naaukatopel): YK-4 (YK-4.1, YK-4.2)

4. TlpounTaiiTe nBa OMpENEICHUS HIDKE U CKAKUTE, O KAKOM TEPMUHE HUICT
peub:

1. A machine, usually with wheels and an engine, used for transporting people,
goods, on land;

2. Any conveyance for transporting people, etc. especially on land.

[TpaBwibHBIN oTBET: vehicle.

Komnerenmuu (unaukaropsl): YK-4 (YK-4.1, YK-4.2)

3aaHuA OTKPBHITOrO THIIA ¢ PAa3BEPHYTHIM 0TBETOM

1. IlpounTaiite TEKCT, HAUNUTE MPEITIOKEHNE B TEKCTE, B KOTOPOM T'OBOPUTCS O
TOM, KaKi€ BO3MOXKHOCTH TPEIOCTABISIFOT HOBbIE TEXHOJIOTHH

Information technology (IT) is process and "act upon" information at the right
time and place, makes greater market intelligence possible. IT is instrumental in
supporting the basic internal and inter-company transactions associated with
distribution, transport and related services. Technological innovation provides an
excellent opportunity to integrate the transport modes, optimize their performance,
make them safer and help make the European transport system compatible with
sustainable transport development.

Bpewms BoinonHenus — 10 muH.

Oxwunaemsbiii  pesynbrar: Technological innovation provides an excellent
opportunity to integrate the transport modes, optimize their performance, make them
safer and help make the European transport system compatible with sustainable
transport development.

Kpurtepuu onieHuBaHUS: OTBET JOJDKEH COMEP)KATh TAKUE KITIOYECBBIC SIICMCHTHI,
kak «technological innovation», «opportunity», «to integrate», «to optimize», «to
make safer», «compatibley.

Komnerennuu (unaukaropsl): YK-4 (YK-4.1, YK-4.2)

2. [IpouunTaiiTe TEKCT, HAUIUTE TPEMJIOKEHUE, B KOTOPOM TOBOPUTCS O CPOKaX,
HEOOXOIMMBIX Jisi OOHOBJICHUsSI aBTomapka. llepeBennTe mpeiokeHne Ha PyCCKHA
SI3BIK.

To achieve real environmental objectives, attention should be focused on all
motor vehicles, not just new vehicles. Features such as on board diagnostics systems
can monitor engine output, while regular technical inspection reveals if vehicles are
well-maintained and operating under optimal conditions. It takes about ten years for
the national vehicle fleet to be renewed. Providing incentives to replace old vehicles



with newer, fuel efficient models, would speed up the process of fleet renewal and
help reduce carbon gas emissions.

Bpewms BeimonHenus — 10 MuH.

Oxunaembli pe3ynbrar: It takes about ten years for the national vehicle fleet to
be renewed. OOHOBIIEHNE HAITMOHATHLHOTO aBTOMAPKa 3aHUMAET OKOJIO JICCSITH JICT.

Kputepun oleHHBaHUS: TPEIIOKEHUE JODKHO COMAEP)KATh CIICAYIOIINE
KJIFOUEeBbIE KOMIIOHEHTHI: «ten yearsy», «national», «vehicle fleety, «renewedy.
[IpennmoxkeHne B mepeBojae JOMKHO COOTBETCTBOBAaThH BpeMeHHOW (opme Present
Simple Active Voice. IlepeBom mpemokeHUs TODKEH COAEPKAaTh CIEAYIOIINE
KITIOYEBBIC JIEKCUUECKUE DJIEMEHTHI: «TPAHCIOPTHBIM MapK», «OOHOBICHHBIN,
«HAIIMOHAIILHBIN, «IECATH JCTY.

Komnerennuu (naaukatopsl): YK-4 (YK-4.1, YK-4.2)

3. [lepeBenuTe TEKCT MO CHENUATBHOCTH HA PYCCKUM SI3bIK:

Transport is a key factor in modern economics. However, there is a permanent
contradiction between society, which demands ever more mobility, and public
opinion, which is becoming increasingly intolerant of chronic delays and the poor
quality of some transport services. The transport system needs to be optimized to
meet the demands of enlargement and sustainable development. Plans for the future
of the transport sector must take account of its economic importance. It involves
infrastructure and technologies whose cost to society is such that there must be no
errors of judgment.

Bpewms Boimonnenus — 20 MuH.

OxunaeMblid pe3yJIbTar:

Tpancmopt SBISETCS KIIOYEBBIM (DAKTOPOM B COBPEMEHHOW JKOHOMUKE.
OnHako, CyIIECTBYET IOCTOSSHHOE MPOTHBOpPEUHME MEXAYy OOIIEeCTBOM, KOTOPOE
Tpebyer Bce Ooubiieid MOOUIBHOCTH, M OOIIECTBEHHBIM MHEHHEM, KOTOPOE
CTAaHOBUTCSI BCE 0OoOJiee HETEPIUMBIM K XPOHUYECKUM 3aJepKKaM W HHU3KOMY
Ka4eCTBY HEKOTOPBIX TPAHCIOPTHBIX YyCHyr. TpaHCHOpPTHAsl cCUCTeMa JOJKHA OBITh
ONTUMH3UPOBAHA IS COOTBETCTBHUS TPEOOBAHMSAM PACHIMPEHUS] U YCTOMYHMBOIO
pazButus. [lmanpl Ha Oymyrnee TPAaHCHIOPTHOTO CEKTOpPa MOJDKHBI YYUTHIBATH €T0
HSKOHOMHUYECKYI0 3HauuMOCTb. OH BKJIIOYaeT HMHPPACTPYKTYPY U TEXHOJIOTHUH,
CTOMMOCTH KOTOPBIX JIJIs1 00IIIeCTBA TAKOBA, YTO HE JOHKHO OBITh HUKAKMX OITHOOK B
CY)KIICHUSX.

Kputepun onenuBanus: bonee 50% mnepeBoga oOTBEYaeT COAEPKAHUIO
OpUTHHANA TPU HAJUYMH HE3HAYUTEIBHBIX CTHJIUCTHYCCKUX M JICKCHYCCKHUX
Herounoctel. Jlo 70% mnpensiokeHWil TiepeBeleHbl  0€3  JIGKCHYECKUX U
IrpaMMaTUYECKUX OIIHOOK.

Komnerennuu (unaukaropsl): YK-4 (YK-4.1, YK-4.2)



BHEHEPTHOE JAKTH4YCHHE

IlpeacrapieHHbIii  KOMIUIEKT OLIGHOYHBIX MAaTepHaloB [0  JAMCLHMILIHHE
«HuocTpaHHBIH A381K» cooTBeTCcTBYeT Tpeboanusam @I'OC BO.

[Mpennaraemuie  OLEHOYHBIE MAaTepHalbl AJEKBATHBI LENAM M 3a/1a4aM
peanu3auMM OCHOBHOH mpodeccHoHaNbHOR o0pa3oBarelbHOR NporpaMMel M0
cnenmanbHocTH 23.05.01 HazeMmHBIe TpaHCTIOPTHO-TEXHOJOTHYECKHE CPE/ICTBA.

OueHouHble  CcpeacTBa  UIA  TEKYLIEro  KOHTPOIA  YCIeBaeMOCTH,
[IPOMENYTOYHOH aTTecTalllid [0 MTOraM OCBOEHHWs NHUCHHWILIHHEI MpPelCTABIEHE B
MoJIHOM o0BbeMe.

BH/BI OLIEHOYHBIX CPEJCTB, BKIIOYEHHEIE B MPEACTABICHHBIH (JOHI, OTBEYalT
OCHOBHBIM NpHHIIHNAM opmupoBaHis ©OC.

PaspaboTraHHble W npencTABIEHHBIE /18 3KCIEPTH3bl OLEHOYHBIE MATEPHAIIE]
PEKOMEHIYIOTCA K HCNOAb30BAHHMIO B IpoLEcce IOATOTOBKH OOYHarolIMXcs [0
YKa3aHHOH crielanlbHOCTH.

A 'I'r
[peacenarens yueGHO-METOAHYECKOH KOMHCCHH ;yf

HHCTHTYTA 4) [Tuauenxo C.A.
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JIucT u3MeHeHu ¥ 10NMOJTHEHUH

/m

Buanl nonostHeHni
M U3MEHEeHUuH

Jara u HoMep
NPOTOKOJ1a 3aceIaHus
kadenpsl (kadeap), Ha

KOTOPOM ObLIH
paccMoOTpeHbl U 0100peHbI
HU3MEHEHUs H 10T 0JIHECHUSA

Moamucsk (¢
pacimuppoBKoOii)
3aBeayouiero kageapoi
(3aBeayrOmmMx
Kapeapamu)
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